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1.  What is the value of log, log; y'?ul'?ﬁ equal | 4,
ko7
tal  Flog, 7
by 1-3log,7
fed 1—8log.2
(d %
5.
2. If an infinite GP has the fArst term x and the
sum 5, then which one of the following is
correct 7
(a] x<=10
b}y —-1=x=<(
ey N=x<1
{d} x>10
iG.
3. Consider the following expressions :
1 XKD — L)
X
2. Jﬂ_x1+hx+x—u+i-—%
ca N
3. 3x*-5x+ab
2
4.
x* —ax + b 7.
2z
B. .
X x+b
Which of the above are rational expressions 7
{a) 1,4 and 5 only
{b) 1,3, 4and 5 only
) 2,4 and 6 only
(d}y 1and2only
YPL-5-BLU [3—A)

A square matrix A is called orthogonal if
(a} A=A%

b} A=Al
ey A=A
(dl A=A

where A' is the transpose of A,

If A, B and C are subsets of a Universal set,
then which one of the following is not correct ¥

fa) AUBNCI=(AUBINAUC)
by AUAUBI=BNA UA
ey AUBUM=C'NB NA
i) JANBWIC={AUCINIBUC)

where A'is the complement of A

‘Lt % be the number of integers lyving between

2000 and 8001 which have at least two digits
equal, Then x is equal to

{ml 2480
(b} 2481
(c} 2482
(d] 2483
. 1 1 .

The sum of the series 4 = 1 + %" 3 b 1B
equal to
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Consider the information given below and
answer the fuo (02) items that follow :

A survey was conducted among 300 students.
It was found that 125 students like to play
cricket, 145 students= like to play foothall and
a0 students like to play tennis. 32 students
like to play exactly two games out of the three
ERmes,

8. How many students like to play sll the three
gamoes 7
fm) 14
by 21
i) 28
(dy 36
9. How many students like to play exactly only
one game ?
{a) 196
ithl 228
(el 254
id) 268
10. If o and i (= 0) are the roots of the quadratic
equation x* + ax — f = 0 then the guadratic
BXprassion - %t +ax +} where x &R has
{a) Least valoe — l
]
(b} Leastvalue = —
4
{ey  Creeatest valus -II
& 9
idy Freatest value E
YPL-5-BLU

11.

12.

13,

{5=-A)

What is the coefficient of the middle term in

the hinomial expansion of (2 + 8x)t 2

lal 6
(b 12
e} 108
d) 216

For a square matrix A, which of the following
properties hold ?
1. (Ari=A

‘

i A=
2. detlA™ 4= “nemny

4, A V= 3A where L is a scalar

Sélect the correct answer using the code given
below :

ta' 1 and 2 only

iby 2 and 3 only

{e) 1and3only

id) 1, 2and3d

Which one of the following factors

does the expansiom of the determinant
% ¥ 3

9 | contain 7

{a) x-23
b} x-¥%
(el w¥v—4
id) =-—3y
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YPL-5-BLU (6=—A)
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wirhl ¥ g =1 vl ® f aod g e A o
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thy C{12 8)
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id} Ci6,831=C(12 8)

logg 27 + logy 82 &1 719 F0 8 ?

T
ial -
A\
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6
{el 4
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14, What iz the adjoint of the matriz 1&.
i posi—8) —sinl= @)1 .
|, — ginl— B} gosi=H) | -

" oosfl —agimB)
{1 |
| — gind cods b

cost sind
it

(gind  cosd

cosh  sing
el

| —ginB  cosd

17.

‘enafl  —sind)
dr |
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15. What ia the value of

[—1+iJ§ = (— 1/

g iﬁ_!'

where i= -1 ? 18,
ta) 3
by 2

il 1

idi 0

¥PL-5-BLU g P =)

There are 17 cricket plavers, out of which
5 players can bowl. In how many ways can a
tenm of 11 players be selected so ag to include
3 bowlers ?

{a) C(17,11)
() €02 8)
(@ C(17, 5=CI(6, 3)

(d) ©Ci5, 3)=C(12,8)

What izthe waluc of log, 27 + log, 32 ?

4 7
SO
19
(B et
: 6
(el 4
Wy 7

If A and B are two invertible square matrices
of same order, then what is (AB) ™ equal to 7

a BlaT!
(b} A'R?
fch B 1A
d} Alp

@ Teachingninja.in




S 22, T (qFF) % T % Haw § Ffatan §
la-x e b HENHE R 7
¢ b-x & |=0 (a) = A
h el C—X
b FJ3 Bsnam )
% EE 0 OH U BB T 99 TR B
3 A o
—— ie) T HHETE A B
: (dy FUE T | HE T
b o |B@Zrb?ie?)
2 23, a2 u, v 30 w (@ GERE) wE Uit i
3 (GP) & pd, 8 3t A w B @ I
@ x= ZELD +oh) Inu p ‘]
Inv » (g % T HAEE 2
(d) x=0
Inw r IJ
3 2 y
20, uﬂrﬂﬂﬁmqrmmﬁqﬁaw[ :
-8 x tal, 0
o reE AR T Bl 7
() 1
(@) 16
bl —16 {e) (p—qilg-riir-pi
e} B idl lmuxinv=inw
dy -8
9 2n
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¢ + 3 =85 =5, T o B 3 (14 0P -1 F e ymm § &
x -2y +2z=5 3N weg g & e poafi o # ) Frefefies de9di
fx—dy—-z=16 ﬁﬂqmﬁuaﬁ%?
() T 2 (a) a>p4+y
by E R, v s = S oEe & Edhi
(c) WA B, AT 3AH Bl & AT
fc) asf+y
idy w1 B ffEm.srsm § xwa F weoEm
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YPL-S-BLU (B-A)
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19.

20.

21.

If a4+ h+c=0, then one of the solutions of
a8 —x e b
b-x a =0 is
b a c—X
ial xX=an8a

2
b Ela +b 4]

{c}

Jila +b¥ 4y

dy =x=0

What should be the value of ¥ 20 that the
2 4

matrix ] does ot heve an inverse 7
-3 X

fa) 18

(bl =18

el B

idil -8

The sy=tem of equations

m+y—dz=05,

Ix—-2v+ 2z =5 and

bx-dy—z=16

(a} iz inconsistent

(b}  is consistent, with a unique selution
{g} i3 consistent, with infinitely wmany
solutions
id) has its solution lying along x-axis in
three-dimensional space
¥PL-S-BLU

23.

(S=A)

Which one of the following is correct in respect
of the cube roota of unity 7

{a) They are collinear

ik} They lie on a circle of radius v3
ic} They form an equilateral triangle
id) MNone of tha above

If u, v and w (all positive) are the p™, ¢'" and

rtB terms of o GF, then the determinant of the
inan P 1
matrix |ln¥ gq 1|is

Vi w r 1
(a)y 0
b 1
e} p-gilg—r)ir—pl

(dl Imusinvelnw

Let the coefficient of the middle term of the
binomial expansion of (1 + ¥°® be « and those
of two middle terms of the binomial expansion

of (1 + x*"~1 be [ and y. Which one of the
following relations is correct 7

gl oa>p+7y
b} wep+y
(e} m=p+y
(d}y o=py

@ Teachingninja.in




28, UHHOE e F AR A, B CF Haw §
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BalyeR:-1sysR M5 AxBH
MEE_HE.:ﬁ5=|II=F¥EﬂL}EB:12+5E=1I
ZrT wftwiad # |
frfefion 8 & = vmad & 7
(a) S, A¥® B TH Uhd we 2
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(] S A® B A TF vk seEE wfataam

t
(dl SV e T8 8

26. WA #fifom 6 r=1,2 3 .. F Fm T, e
ware Al (AP) &1 raf g # | 2 faedt B fis
YA QTR m W on & fom EER ue
T,=1n3M T, =1mt, @1 Feew |29
%9
(a) (mn)?!

(hi mt4+n?
e} 1
(di 0
27. uW #itaw % fx) 59 v = e fRam sg=s | 30,
- # o ot amfaw x5 om owam R
e gix) = fx) + Fix) + %) B, 77 Fedt o
greafas « F fom
(a) gmix)l<D
(b} pixi=0
Ll gixl=0
dl gExh=0
¥YPL-S-BLU {10-A)

Fr=fefes w e $ifiw -

1. (A+B+CV=A"+H +0C
2, {AB)=A'R

3. (ABC) =C'B'A

TET A, SR A T AfE R

FFE A RAA TR Y
(a) EE 132

by Hae 23wy

() e 1SR

TV 25

Garnd fwns (11010, (10110110), 3R
(16011x0y), 1 Gpred, Gemafi  dew
(101101101, 8 | x 3 y & wm 7m0 § 7

fal x=1l,vyv=1
b} x=1,v=0
el x=0,y=1

d) x=0,y=0

uiA cfifim 5 wmeqe B, us 9 smegm A =
HeEEd =R B, A S @ ¥ =R = ww
AEHEE R [ | AR k i#0), WEHE A W
HRE 7, 1 AR e o @ o

fay |

(bl L

ey W4
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25.

26,

27.

Y¥PL-S-BLU

et A=[xeR:-—1=<x=<l],

B=lyeR:-13y<1]and Sbethe
subset of A = B, defined by
S=lix,vieAxB:xt+y =1l

Which one of the [ollowing is correct ?

fa) 8 is a one-one function from A into B

(b} 8 is a many-one funection from A into B

ic] 5 is abijective mapping from A into B

id) S is nota function

I.atTrbuther“‘termnfanhPﬁur
r=1, 2 3, ... I for some distinct positive
integers m and n we have T_ = 1/n and
T, = 1/m, then what is T__ equal to ?

fa) (mnyt

m !+ |:|_1

thi
e} 1
d) 0
Suppose fix} is such a quadratic expression

that it is positive for all real x.

If plx) = fix) + Plx) + (x),
real x

then for any

(a) gxl<l

by gixl=0
€] gixi=0

(d)  glx)z0

28,

a0

{11-A)

Consider the following in respect of matrices
A, B and C of same order :

1. (A+B+CY=A+B+C

2. (AB/=A'R

3. (ABCY =C'BA

where A’ is the transpose of the matrix A.

Which of the above are correct 7

ta) 1and 2 only
fhY 2and 3 only
fe) 1and 3 only
id)y 1/2andd

The sum of the binary nombers (11011},
(10110110), and (10011x0y), is the binary
number (101101101),. What are the values of

xand v ?

ml] x=1,y=1
b x=1y=0
e} x=0,v=1
(d} ==0,y=0

Let matrix B be the adjoint of a square matrix
A, [ be the identity matrix of same order as A
If k (=0} is the determinant of the matrix A,
then what is AB equal to ?

a) |

(bl ki

ie) k¥
iy (1)
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31 AR (027 = 2 37 log,, 2 = 0-3010 B, A x F
Wi e gam we R g

tal  —100
(b} —05
(e —04
ey -02

a2, nﬁaﬁmﬁsﬁlﬂﬂﬂﬁﬁsmaaﬁﬁmgﬁp
ferait weamd = = = # ¢
fa} 45360
(b 30240
() 27216
{d} 16120
(X ¥ ¥+z}
83, FYR |z x  z+x | FHERE SHaE R
y = x4y
a) =ylly—z){z-=35)
(b} (x—yhiy—g)
led (y—zllz—x)
{c} Ez—x]l‘!#l-:+-y+z}
YPL-S-BLU v

34. afg A B3N cvs ByE 5w # o

| 1 1 1
e I+einH 1+sinC =0
sinA+sin”A  sinBosin®B ein 4+ gin® O |
B, @ Ffafaa 4 4 sham ves gt B 0
(a) = ABC mwfzans &
(b) FgE ABC wwEm #
ey Fq= Apc T 2
(dy  Trgm o wwfr F e F w5 Fesd off
ST el

35. UFHUH Wie *® W= A 3 B % waw #
Freaferfam m o Hifim .
. AP =(A+BI(A-B
29 (A-D{I+A)=0e=4A%=1
T 1THEE HiegE # 3 O I g |
3w 8 | whavd o A o
{a) aH 1
(by Fae 2
(e) 13 2 ZH
(d) FFM1,TF2
= ]ﬁi"ai‘;%ﬁmﬁsmi?
(a) cos 20
(b}  tan 26
(e}  =in 20
(d)  cosec 26
Al

@ Teachingninja.in



81. If (0:2¥ =2 and log,, 2 = 0-3010, then what fg4
ia the value of x to the nearest tenth 7
(a} =100
iby —056
el =04
) =02
32, The total number of 5-digit numbers that ean
be composed of distinet digits from 0 o 915 i
ia} 45360
(b 30240
el 27216
d) 15120
%9. What iz the determinant of the matrix
‘% ¥y vz
|z x =z+x 7
IJI" z X+Y)
@] (E=¥1ly=zllz—=x)
x—=¥li¥ E—X d.
by (x-yhiy—2l
e y—zliz—x%;
(d) (-0 {x+y+2)
¥PL-S-8LU (13-A)

If A. B and C are the angle= of a triangle and
1 1 1
1+ainA

1+sinB =,

sin A +ain® A gi,rl.I:t+|2|l.|'t2 B enC+sin®c

then which one of the following is correct 7

{a) The triangle ABC is isosceles

(b} The triangle ABC is equilateral

ie) The triangle ABC is scalene

(d} No conclusion can be drawn with regard

to the nature of the triangle
Consider the fallowing in respect of matrices A
and B of gamea.order !
Lo A% pi=(A+B)A-B)
5. (A-DI+AI=0esA%=]

where T iz the identity matrix and O is the
null matrix.

Which of the above is/are carrect 7

{a) 1only

b} 2 only

ey PBoth1and2

{d} Neither 1 nor 2

What is —209_ equal to ?
1+tan®@

(a) cos26

(b) tan 20

{¢) =in 26

id) cosec 26
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¥PL-S-BLU

47. Hﬁsﬂcfﬂ—u], see 0 HHT aecfu-v-m,'ﬂtl'iﬁl"hﬁ

(AP)H B, T8 cosom 1B, 77 sin? 6 + cos @ 1
uH T4 # 2

(a) 0
® 1

@ -1
id] %

2 A+B+C=180° 2

sin 2A - sin 2B - sin 2C 0% soa £ 0

(a} —dginAsinBsinC

(bl —4cosAsinBeeosC
(e} —doozAcosBsinQ
idl —-4sinAcosBeosC

U T FRE 9 & o et & i (dn)
F R | e B gE 5 ogEl B W smee
0 48 R | 9f3 99 & Iw & AN $t S

122 m &, &1 g5 & o] =7 &
(a) 122 sin 48° m
(b) 122 tan 427 m
(¢) 122cosd8°m
(d) 122 tan 48° m

40. = wayls d w0 A R | = i

41,

(14-A)

HHET 3 (3 - tan” A - cot AP = 1 I GO
=M el a s asrom a2 o

(ay  300°
(b} 315°
e} 330°
(d} 345°

h =€ 6t v ammg & o s am B 23 w
ﬁm%ﬁ%w#ﬂngﬁg
Byl sy Sad w2 ¢

{a) 2h
dh
h) 3
ey h
h
Ed} E

ity S cosee x + cot x = V3 FF
Eﬁwmqﬁﬁﬂﬂxd:ﬂnﬁ?

(@) Faw OF
3

by HEw =
a

L) -'?ma T
bn
I-‘i-:I ¥ Er T
b
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37.

If see (B — o), sec @ and sec (B + a) are in AP,
where cos o = 1, then what is the value of

gin0+cosa?

m) O
by il
ey =1
1
4 i
(d} 7

28 [ A+PB+C=180° then whatis
gin 2A — sin 2B —sin 2C equal to ?
in) —-4sinAsinBeinC
ibl —-4cosAginBeosC
e} —4dcosAcosBrinC
idl —-d4dsinAcosBeosC

39. A halloon is divectly above one end of o bridge.
The angle of depression of the other end of the
bridge from the balloon is 43% If the height of
the balloon above the bridge iz 122 m, then
what is the length of the bridge ?
fa) 122 sin 48" m
(b 122 tan 42° m
¢} 12Zcos 48°m
idl 122 tan 48° m

¥PL-5-BLU

(15-A)

40. A is an angle in the fourth quadrant. It

satisfies the trigonometric equation
3¢3 — tan® A — cot A2 = 1. Which one of the

following iz a valuoe of A7

(a} 300°
(by 315°
ey  330°
id) 345

The top of a hill ebserved from the top and
bottom of & building of height h is at angles of

elevation : amd ; respectively. What is the

height of the hill ?
(all il
By 3o
2
e h
o) B
2
What isfare the solutionia) of the

trigenometric egquation cosee X + 00t X = 3,

whers 0= x<2n7

bm
ial = onl
a 3 nly

) -
{ 3 only
ey monly
[
1
d} =, %. %
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43, nﬁmgi,fﬁ 46,

(2 cos 0 + 1) (2 cos 20 — 1)1 (2 goa g - 1110
(2 cos 48— 1

O F R 7
Lk i}
by 1
el 2
il 4

44, A s o 3R cos Bi0 < o < i < n), T
A 4x% - 8 = 0% g5 B, A seca x sec f

&1 O R
tal -;i 47.
3
4
hy =
. 3
e E
4
W -2
4

1 &
2 =4
q 1
&
£ e
4 48,

x ¥ IE WMl § @ weas mdEm

tan~! (2x) + tan~T (3x) = E W B AR 7
(m) HEH 3
by had 233
fe)  hEgw 14
idl a4
YPL-S-BLU (16-4A)

AL v Ui A (GP) e 98 2 # i
THh I 9E W AR 8 B, W iR Avii
(GP) 3

i R |
) BoE e e,
28
' 2
[bj 1ﬂ|2|_|_1-
8 25
O e 3
2 od
i 3
d) 63 -, =, ..
2 4

a2 a, b, o TERE S0 a1 AU Af
&vﬁﬁﬁ,?ﬂ%{fﬁmﬁ:m%?

b .
(al ;- et 1 oy 2

C

b £ spmEr £ apany
a h

() 139 2 g 2
b c

(d) 13eE R amar &
b A

A1 sl 7 U w gemat W dee w2
o Wl Fi7 w3, 4 5 5 F T W wEd §
wEl ! #1 Ty e 9277 R 0

fal 2664

{b) 3BBRZ
cl 4044
(d} 4444
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48. If b= E, then what is the value of
(% e 8 + 1719 (2 cos 20 — 1)1° (2 cos 6 — 1)1P
(2 cos 40 — 1)1 7
{a)
(b} 1
ey 2
(dr 4
44. Ifcoz oand cos (0 <o < B < n) are the roots
of the guadratic egquation 4x? - 3 = 0, then
what is the value of sec a = sec f 7
4
ay - 3
4
h =
(b 3
3
] -
Lo 1
i |
.
(d .
45. Consider the following values of %2
1. B
2. -4
1
% B
1
4. ==
4
Which of the above values of x isfare the
solution(s} of the equation
tan~t (2x) + tan~! (3x) = : ?
{a) 3only
ib) 2and 3 only
(el 1andd4only
idl 4 only
YPL-S-BLU

47.

(1IT-A)

If the second term of & GP is 2 and the sum of
its infinite terms is 8, then the GP is

(@) B,E,%,%.
B 10,2, 2,2,
() 4.2.11%.;—2.
(d} 5.3.%1%1

. ~b
!farh,:minhP‘m‘G?nrHP,theni_ﬂls
equal Ly
(a) vl-‘—'nrluri

f o

[+ C
{hi et - O 1

anrh
Lelk lnr%m’%

A L

1 or —or —

{d} nrb

What is the sum of all three-digit numbers
that ¢an be formed using all the digits 3, 4 and
B, when repetition of digits is not allowed ?

ia) 2664
{b) 3852
(el 4044
id) 4444
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49, FHFOH ax® +bx v c= 03 px’ 4 qx 4 r= 053, furs FhEW 22 + 42 - 2x - dy 2 = 0 W
% qE #1 FgwE @ & ) afk D, ¥ oD, i & 7 .

surer: 57 e o R & A DL Ry
D, (a) E’*Fﬂﬁ

g # 0
. (b)  37erd 398 190 o dEge
m 2
p 3 i
(el Tzﬁﬁnﬂﬁﬁﬁﬂqﬁ
& B
i -
q° (d) 39w O/ FE 94
o
oo
el 1-2
(d) I F | HIE TH

63. T WA fxsmy+n=0 3
50. #2 A = sin@ + cos® 02, A Bt a0 & I'x%amly +n' = 0% ®E HEW an-lo

fom Frerferfign & & whm o w & 0 e | o e R R
fa] 1<Ax<2
(h) %Eﬁ.sl (8 }_Ern‘—.'."m
' — mm’
13
el =
e 18 =A=1
d 13
(k) - —
2 e 16 (b} Vm"r"’!..
{' + mm'

51. foefl 99 & os = & o (sim) g (e, )
mﬂxg,}'ziﬁ,ﬁﬂ'ﬂiﬂﬁ'ﬂ'ﬁﬂmi

im"— 'm

(@) (=% x—xob# (y —yHy —yp) = x® 45 A mm"
1] Lt—xljzﬂy—_!.rlliuxﬂyz
; 4 1 -
(2} x*+¥ +?:':]x_2+2}*13rg_[!

: fm'+{'m

iy fx—mllx—x)+iy=v](yr- =1 d} |——
3 2 ¥p) ¥ = yy) H'—mm“

YPL-5-BLU (18-A)
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49.

then what is ) equal to 7
Da
2
w
i
09
(b h—i-
q
&
e
(el =g
r2
()  None of the above
5.
B0O. If A = sin® 6 + eos® f, then for all real-ﬂ,
which one of the following is correct ?
m 1=A=32
(b L A=l
4
13
= £A=z1
I8
H 13
di —zAs—
¢ 4 s 16
51. The equation of a circle whose end points of a
diameterur&#u,,:.rim.ud (Xg, ¥ 5
() Cr—% ) x—xg)+y —¥) (r—vg) =x® +3°
by (x- :l'JE + ::.r—;.rI'l2 = Xa¥g
{0} x%+y%+ e, + 2y,¥, =0
(d) (x-—xx—xd+ly—y ) ly-yy0=0
¥PL-5-BLU (18 =A)

The ratin of roots of the eguations

ax? + bx + ¢ = 0 and px® + gx + = 0 are equal.
If D, and D, are respective discriminants,

B2,

The second degree squation

x4 dy? —2x — 4y + 2=0 represents

(a} A point
(b} An ellipse of semi-major axis 1
Ja3
(el  Anellipse with eccentrictty -
{d} MNone of the above
The angle = between the two lines

Ix +anp+n =0 and I'x+m'y+n'=0 1s

g by tan™! 0. What is 0 equal to ?

lim —I'm
(a) S
Il = mm'
" ) |
th Im' =1 m |
I+ mm'
() |‘r"f _Eml
{4+ mm
(d} Hﬂrulm
i =
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54. Frafefan weei w fem Fifaw . 56. FHAT Sx - fy + 22+ 11 =0 F fag (2,3, 0 )

L. imaﬁy=m+c13ﬂly=mx#¢gﬁ; Eﬁﬁ &
ﬂﬂﬂﬂ |=I_t,_!z| 3 | (a) l‘[ﬁ?{ﬂﬁﬂ%}
fivm by 2 g (areE)
2, TEET ax 4+ hy +ey =0 i (e 4§ o
ax + by + e, =0 % =19 #) = AR
|E1—E2| 'EI {d] 4%{%]
a® + b*%
3, mﬁx=clmx=:2%ﬁﬂﬁ§f{
e~y &1 57. &= 0, P, Q 3 R % Fdwis w0, 0, 0),
* (4, 6, 2m), (Z,0020) 3 (2, 4, 6) F | 7 fifw
IvgeR 0 W R odi # o & L M 3 K #um =l OR, OF, PO
M QU wER & g # 5 LMNK v
ta) a1 3fR 2 wdigt g ¥ el @ dew yand LK s

LME, Tord & i Fromad J2 2 | moan

(b} Hae 2 3 3

e T Fa A E
(c) waEe 133

fal 6.2
(dy 1,233

m 1,3

e) 8,1

sa.ﬂma%mwmwiiﬂmﬁ

id) 39w H | g T
= b =13ﬁ'{§ -l-;;: llﬁlﬁﬁ:{ﬁl:ﬁ

2 3
ﬁﬁfﬂﬂﬂ?ﬁ'ﬁ%iﬂfﬁ dx + 5y -6 =07
HOTEL B 7 58.  tm Hél =j.r1;ﬂ ='..!.;-E| Femrd Trsfim it

() 20% + 25y — 54 =0 87

() 25%+ 20y 54=0 () x+yv+2=6 x+2y—-3z=-4
th) x+2y-2z=-1, dx+4dy—-5z-3=0

l¢] 4dx+0y—54=0
g} Sx+2y-8¢e=0 Ix-Gy+83z=-2

() dx+ By ~45=0 (d) Bx+2y-8z=—2 Sx—6y+3z=0
YPL-S-BLU (20-A)
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54. Consider the following statements ; B6. What iz the distance of the point (2, 3, 4 from

1. The distance between the lines the plane 8x =8y + 2x+ 11=07
H=M+ﬂ;&ﬂd?=m+fgi=w- ta) 1 unit
v1+m?
2. The distance between the lines (b} 2 units
ax + by +e;=0and ax + by + g, =0 is £ Dounits
ey - eg|
a® +b? idl 4 units
3. The distance between the lines x = ¢
und x = ¢, 8 | ey - 5. 57. Coordinates of the points (0, P, @ and R are

respectively €000, 8}, (4, 8, 2m), (2, 0, 2a) and
{2, 4, 6). bet L,'M, N and K be points on the
(a} landZ2only sides @R, OP, PG and QR respectively such
that LMNK is a parallelogram whoge two
adiacent sides LK and LM are each of length

Which of the above statements are correct 7

(b} 2 and 3 only

¢l 1and3only J2. What are the values of m and n
respectively 7

idi 1.,2and3
(a) 6,2
bl 1,3

85. What is the equation of gtraight line passing

through the point of intersection of the lines e} 3,1

LY X o %21 and parallel to

2 + . 1 and 5 =y ' e {d} None of the above

tha line 4x + Gy — G =07

() 20+ 25y —54=0 58, Theline"_;r"’f:“;‘*isgivmhy
(b 25x+ 20y —-54=0 {a) x+y+2mb A+2y—-Jz=-—4
(€) dx+5y-54=0 hy x+2y-2z=-1 dx+dy-Hz—-3=0

) dx+2%y—8z=0, 3x-6y+3z=-2
(dy dx+bv—d5=0

(d) 3x+2y-32=-2, dx-6Gy +3z=0

YPL-S-BLU (21=A)
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59. Fefatas wedl w fsw S . 61 34 fiyw w1 S w0 # s ol famg
1. wHaHA! 9% - y+g=130 x+5y+22=3 {Ilri]l [-xg,ﬁ]_ [!:3,-]—]‘&?
8

x 5
= = = F: % & 1
2. HAGE 6x - 8y + 62 + 2 = 0 o () ]y —xp) {3, — x5} (% — 3, )|
Zx-y+2r+4=0F A5 F Zh %”:g. b 0
udeE w0 8w e 28 0 @ | ®i=xghixg —xg)lxg —xy)
]{11213
(a) wad 1
Xy =Ko )(Ks —Xg iy —xi]
() 1 —Rg/MAg =Ry —X)
(by e 2 re X
(e) 13 2zmE

) A#ELade :
G, ﬂﬁy-ﬂﬁ.,ﬁzz+}r1+gx+[y+ E = 0%

60. Frafofes weri w fmr Hifao w9 w4 2, A 58 fag w s, 9w ) e

fermg ot e 2 7

ﬂ?r:ﬂﬁﬁﬁaﬁmm.mmmnm# 3 e f
oo™ gen  tEmETe mfm @ > ["E'_ﬁ)

U o WA wE O, A & [ogt)

COs 0= i _ -ﬁ.| L 2)

-.||Ilfl'ﬂE ¢ no)ir® 4 54
o (49

w7 11 et ot Brgw ABC H, W W 2 e @ (g —f
8% =b% + ¢® - dbr ez AL

o el % gew §, Fofafen § A - =
t;+E].tE+EI=r;]E+|E[EH‘ﬂ

(a) THI wEA 19 I 98 # 3% w9 1L S g &, af i Fam afe

1 1 &R P R o
fa) @ 3 b EEE
(b) = wEA 1 F I oud #, e weEw o e T
oA | 1 A F I a3 (b) & 3R b HHA
(el ﬂqlqﬁg_ﬁﬁwﬂﬁg () a @ E.éﬁ‘#ﬁ%ﬂﬂ!ﬁﬂﬂﬁ
d) e I e B, e e oo @ () @ o b ufrouie #
YPL-5-BLU (22-A)
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Consider the following statements : 1.

1. The angle between the planes

x—ye+zalandx+y+2r=3is %

2. The distance between the planes

fx—dy+62+2=0 and

s o

-y +224+4=0i8 —,
k4]

Which of the -above statements iafare

correct

ia) 1only

iby 2 omly

{¢) Bothland?2

(d} MNeither 1 nor 2 &2.

Conzider the following statements !

Statement I': Il the line segment joining the
points Pim, n) and Qir, &
subtends an angle o &
the origin, 1han

TS — I’
Q08 (. = —p— : -
-|IH:I'EI.2 *_nEJ{rE + a"'.!,]

Statement 11 : In any trinngle E;'Bt.‘., it is trua
that a® = b & ¢% =3bc cos A

Which one of the following i8 eorrect in respect

of the above two statements 7

6.
{a} Both Statement | and Statement II are
true and Statement I1 is the correct
explanation of Statement 1
bl Both Statement [ and Statement II are
true, but Statement II is not the correct
explanation of Statement I

icd  Statement 1 is true, but Statement 11 is

false

{d}  Statement | is false, but Statement I1 is

true
(23-A)

What 12 the area of the triangle with vertioes

1 1 1
Xy |+ | X2, T ?
v RSk %a %3

() [y =%y (X — xg) (x5 — 2, |

(b} 0

(e} (%] —Xabxsy —_l'c:;]ﬁl’.:q - ¥l
X1¥xaxy

(e [I]_—‘.IEEHKE—HE}{E-; =Xyt
2xxaxy

If v-axis touches the circle

12.1.3-3-1-?1-"[}' + % = (), then the normal at
thisgpointintersects the circle at the point

19
o [o-E
(e) [-?.f]
(dy  (-g 1)

Let | & | =0, | B | =0.
(m+BI1(F+ V=7 1%+ |2

haolds if and only if

@) & and B are perpendicular

b} & and B are parallel

(¢} @ and b areinclined at an angle of 45°
(d) @ and B are anti-parallel
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-y A A A
64. IE r =xi +y] +zk B, A 67.
Toli 47 + k) Frms a9
fal =
(b} =x+y¥
el IX+¥+zl
) ix+vy+z
85. wm 2i - + k ol —4f - &, v
W, UF g afey (gfe aee) &
N 1 = 1
(aj _—IiTJ—_E
va3 V3 J3 68.
i T O O
b P T 2
g T gty
L 1 » 1 A
el ey ke
3 517
14 1 & N
(el ) 1=
Pl T Rl T
9.
66, FE |a|=3,|b|=43 |3 -B|=5%
A |a+ b | WEFTFENE?
fa) 8
(h) 6
(¢) &42
id) &
YPL-S-BLU (24—-A)

53

3
&

=in -
@ |A|>1B|51C]

) |A|=|B|=|C|
= —¥
© |A|=|B
— —§
@ A |%|B[#|C|

(8 <Bixia + b) ek w22

(a) F

h axb

Le) Ec? x?]
W |z [P=| b 2

P+ 2] + 3k T miw vs safEEE w T
Tz %1 S153 ¥ ok w9 smifta & | safes
& vl w1 gftam #

fal &

(b} @i

(ed  JBA

(d)  TogeE H & = T
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& A A -
It F = =xi + vj + zk, then what is

- A H
ro.f1 -+ 3+ k)equalto?

lal  x

(B} x+¥

ey —lx+y+u
dl (R+¥y+z

A unit vector perpendicular to each of the
& N
vectors 21 — ) + K and 81 -4 -k 4

il 1 » 1 lﬂ
a —_— 1 + j ==
J3Ad8T d g8,
1 =& 1 & 1pa
] —= - = K
th ~.|'§1+H.J+:£
1 » 1 A 1 &
Lel ] == j——k
N N
1 & 1 & L &
dl —=i+—=] +/=Kk
qg-= g V3
69,
-y
If|a =8 |b|=4and|a — b | =5
- - =
then what is the valueof |8 + b |7
a] 8
ihi &
(e) 642
idi &
(25=-A)

a67.

=iy

—
let a, b and ¢ be three mutually
perpendicular vectors each of unit magnitude.

— ! e
1fﬂ.=?+f+ﬁh.ﬂ=?—?+?ﬂ.ﬂd
- Y b —

C =a - b = ¢ ,then which one of the

tollowing is correct 7

W (A B[sE]
—5 —

B |A[=|B[=]T]
_}. =

& TR l=El=)E]
—:‘..

@ (A |=pERIC |

: 3
What@e e’ — b )x(a + b )equal to?

fah 0

(b} ? M F

@ 2(a xb)
@ 1w 2=

A spacecraft located at P 2} + Si is
subjected to a force ;'LE by firing a rocket. The
spacecraft is subjected to a moment of
magnitude

{al A

(b} J3A

€@ BA

{d} Noneof the above
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70. wE figm ABc o, ofz #wm O fawm wm, A|73. wEW

Ffeias %ol o fsm i . (ein x
o S LS EE G % w0

1. AB+BC + CA = 10 Payad o ot femm ifsm
o o 2

2. AB+BC-CA=0 = FRx=0
—3 r » 2 s &

3. AB-BC+CA=0 e & Hay 4, Frefoies 8 @ we v g

= ﬁ'.-'

— — —m
4, BA = BC + CA =

—
-

(a) ¥ x =0 T94 78 #

IR wmaA A o e gl # 0

) T (b} 4% TrdF x W Hod 8
il ﬁT () ?JE;;:uqiﬁﬂH?lﬂi!-'
() #= {d) T8 x =09 Hag #
id) =N

74. Fod fix) = |x - 3| & fom, Fafafes 4§ &

71. °H fan & % v = coe! isin x) T THUm WA-HT UF Tt AE R 7

tan 8% | 7% IFA0A (0, ) H 6 A B ;
(a} o™ x=-3 9 Haq T8 £

lH
(el st
e (b) He x =37 HAT B
by 3=
F (e} O % =09 FTHenhy 2
m
ich -
A () FFH x=—3 W A B
b
() =
2
2% —sin ' x 5
75, irﬁtﬁfﬂftn:—lmirmﬁqﬁ
2x +tan™ x
=1 5 % =
72. ﬂﬁl?x?:"’—i.‘nq{lﬁqﬁqqﬁqﬁmﬁa Wi fag, Wb B, @ fo) W W w0 R 7
H__
AT &, T T i T R 2 ta) -%
fal  —em d) U4, ) 1
by =
(h) (4, =) 4
el (1, ) LA, o) (e} %
dr (1, 4) U4, =)
(el o

YPL-S-BLU (26— A)
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70. In a triangle ABC, if taken in order, consider | T3.
the following statements ;
—f i — —5
1. AB+BC +CA =0
e N
2. AR + BC-CA =0
- = = S ¥
3 AB-BC+CA=0
— = — =
4. BA -BC+CA =10
How many of the above statements are
correct ¥
(a) Ome
(b Two
e} Three
id} Four
T4,
71. Let the slope of the curve y = cos~ (gin x) be
tan @, Then the value of B in the nterval (0, n)
is
™
] o
1a a
b
b rlad
11} :
(e} %
75,
=
2
79, Iffx)= X : defines a function on R, then
1_
what is its domain ?
(a) (—oe, d) L {4, =)
(hy 4, e
el (1,400 04, ==)
Wy 1,4y {4, =)
¥PL-3-BLU (27 —-A)

Consider the function

Rin 2x i il
flx)=
a .
— i =0
1&

Which one of the following is correct in respect
of the function ¥

{a) Itisnot continuous atx=10
(by Itisconlinuous at every x
(e}  Itis not continuous at x =
(dd It is comtinuons ot x= 0

For the fonction fix) = |x - 3|, which one of
the folluwing is not correct 7

(g}  The function is not continuous at x = - 3
(b} The function is continuous at x = 3

(g}  'The function is differentiable at x = 0
id) The function is differentiableat x = -3

|
s Aoetien ) = XN X L

2y +tan” L x
eontinuous at each point in its domain, then
what is the value of f10) ?

1
¢ T
[ 3
1
b =
3
p:
@& =
= 8
dy 2
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76, af2 fix) = J25-x7 B, @ h‘mL_im T tm V000 pon R 2
=k, BT B0 i :
formrar e 2 ¢
- | (a) 2
s J2a
1 by 242
(b) —=
wad
i
1 ic) g
e J2
43
{dl . idy ——
43 242
g 2+5tanyx | d;i“"i gm ofonfig e, w8l A=, 0% | wE oW
a7 qinge (t=3) 71 & 7
7 R w) (2,5
2% '
b} 1 by (1,6)
ek =1
ic) [1,5)
{dl —11-
X (d)  I1, 5]
8. Wﬂx}:xﬁnx+mﬂx}ﬁ%nﬁxa§m " ¥ y
i, fefefsmda s s odi & 0 oL Illl'ﬁ*-‘.[—!]ﬂx fmdh o 8, Wl ()
il o
(a) !ﬁ'.m[ug]ﬁaﬁmﬁ qEem qoils S 8 7
; |' 2y = a) b=a
(b} IE, AW G,EJHWEHT%
|1
. ithy a-b
(e} ﬂ!,aa'maln.f]ﬁﬁmum%
2, ) 0
idy UB, HATE :;]ﬁmﬁ (d) 2(b-a)
YPL-S-8LU (2B -4 )
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768. If fix)= \IE.E— x? | then what is | ng,
|y § =1
1
Bl =i
J24
1
i
J?.-d.
1
() ——
i 4_1@
1
id)
443
41 [B—2tan Jx . dy
7. y=tan |- ],umuwham— 80,
s [E +Btan VX dx
equal to 7
I
%
a o em
th) 1
el =1
1
id)
25:

78. Which one of the following is correct in
respect of the function
Ex}::sin.t+msx+%l:m2::? 81.
fal It is increasing in the interval [ﬂ, g]

(b} It remains constant in the interval
f T[‘]
0, =
e
{c)  Itis decreasing in the interval [ﬂ, %)
(d) Itis decreasing in the interval H- T—E‘]
YPL-S-BLL (28-A)

1— cos B
i to ?

What is EE-IPI] 5 equal
(a) -.Iri
(b) 242

1
(e)
IS

i |

dy -——=

242
A function f2 A —+ R is defined by the equation

fix) = x"—#x % 5 where A = (1, 4). What is the
range of the function 7

tal (2,5

(hy (1, B)

(e} [1,8)

(dy [1,5]
b b

What is J t:]dn{-"- xldx equal to,
n i

where |.] is the greatest integer function ?

{a} b-a
(h) a-b
) O

d) Z2(b—al
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a
82, ! |%—5]dx Topeeh = 2 2 85, j[%(m*%”dx et wre # 7

k) 2 @ 0
i -
bl 3 " “{f
(il 4
T
) -
id} 2 c 3
=
(dh —_
2
83, jsin*’xmmx TRk w0
o TR, A 88, FefEqe v § O feud, wom

fix) = 4% <G+ GEEAR B ?

bt sin*x+e
a0 1 oo, 2]
o) {1 —sin® x1* :
g I thY [, =)
1 - cos® x)° @ ey
idl ————— +¢
4 idl €2, 3

T c TEEA-IE R |

B7. d@-Hel v = p eoslax) + g sin (ax), FET Poq
e I B, I e i #

Pyl L %) . 2 .

B, J-E ) gy e R 7 _— :i_ﬂs},ﬂ
x
i) fn|tanx| +e -

(b :f—a}mﬂ
b} I |seex|+e -
2

el tanx+c (e :13‘2' +ay=0

id) e ag

2

fd) :—'1;+ai_f,.r=ﬂ
X

FE o BHFEA-SE R |

YPL-5-BLU (30— A)
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B2, What ia J |x—5|dx equalta?
2
(e} 2
iby 3
leh i
idl 9
83. Whatis I sin” x cos x dx  equal to ?
iah cos' x4
by sin*x+e
.
" }
() (1 —sin”™ x}™ | "
4
@ Boeoefx?
-+
where ¢ is the eonstant of integration,
84. What is j gt El gy pqimalto 7
a} In|tanx | +e¢
by In |soex| +c
(¢ tanx+c
d) 0% 4
where ¢ is the constant of integration.
YPL-S-BLU

BT.

(31-A)

I

& 2 o
What is J.{lii'f- tan = }dx equal to 7
-1
a0
1) -
iq
7t
g
e 5
T
dl =
(d) 2
In which onéof the following intervals is the
fanetion ) =% - Bx + 6 deereaszing 7
inl {:ﬂ-f'ﬂ'{. E-l
{6y 13, =)

(g} [~=o;mm)

d@ 2,3

The differential equation of the family of
curves ¥ = p eos (ax) + g gin (ax), where p, q
are arbitrary constants, is
diy 3
LEL) —E -y =0
dx*
dly
i —% —ayv=0
dx®
d¥y
() 2= oay =0
dx®
d?'j
(= +ay=0
dx*
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YPL-5-BLU

g -1, -2 @ Tl g IR
vy __¢_ 1 & vgw w3 ad o W
dx %3

meftero #

) 17Txy—6x"+3x°-2=0

(b} Bxly+1Tx* + 2" _3=0

() E:-:}r—ﬂzﬂ+1?xﬁ+!i =1
(di 1?12_}'+ﬁI_'i"—315+5=U

6 awa At i wif w7\ 2, e we
y=acosx+bsinx+ee™+d8, FAloab,e

3 dwEws I E 7

fal 1
(b} 2
Aed 3
idy 4

ﬁeﬁﬁﬁwgl

91.

@ u = ™ zin bx 3T v = ™ cos bx B,

ua -+ vix_v ﬁ?ﬂ%mﬁ 4
(a) ae®™™

(b (a®+ b¥e™

e} abe™=

(dy  (a+hb)e™

92, AR y = siniln x) B, 7 F=lEiEa @ 9 SR

3.

(32-A)

U =l R 2
-3
ia) E-; -i-:.'u'ﬂ
dx
a
' L¥ -0
dx
(el xdﬂ -t-:tﬂ +¥=
dx® dx

U HEE % B9 H wHl Gl bl R wH W
40 m T % U AW @ 915 @O U & | 4k
it W wfirwan gwfim SEwa B, @ e
CIREEIR LR

&l 25 m
(thy 20m
e} 10m
idi H5m
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BHB. The equation of the corve passing
through the point (-1, — 2} which satisfies
g—i o ;Iiiﬂ , 1%
(a) ]'?x:}r—ExE+H}|:E—E=L'I
b)  Ex'y 17" + 2x" —3 =0
el E:{}?—212+1?15+3={J
) 1Ty + Bxy - 3"+ 5=0
89. What iz the order of the differential
equation whose solution is
y=acosx +bhsinx +ce” +d where o, b, ¢
and d are aritrary constants 7
fa} 1
(thy 2
) 3
idl 4
M. What ia the solution of the differential
equation {n [%] = ax + by
(#) ae®she¥=p
(i 193-*.._ lEll:'l"'=v;'
a
(@) ae™sbe =g
idh I—E“+—E_h!"=c
B
where ¢ 18 an arlntrary constant.
YPL-S-BLU

Bl.

(33-A)

If u=2e"gnbx and v =e&" ¢ps bx, then

R | d
what is u—— + v— equal to ?

dx dx
fad & Eh"
by (& +boe™

feh ah a3

idl  (a+bire™

If v = gin {In %), then which one of the
following is correet ?
EEON Nl
(a} F—!—j‘—ﬂ
rdg:y
Y=L =0
dx®
2
g d®y dy
ek x +X== +yml
dx? | dx
(d) mciﬂ o A—
dx®
A flower-bed in the form of & sector has been

fenced by a wire of 40m length. If the
fower-bed has the greatest pozsible area, then

what is the radiuz of the sector 7

fa) 20m
(b} 20m
(e} 10m
id] Gm
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1
0, [xix-1)+13, T8 0<x <18, F TEE 7=

05. AR y= |snx|!* & @ u_gm &ﬂ w4
X
R T
..
fi a
@ 2°%Ehz V37
(5]
i
&1
w2 (6 n 2+ /3
G
_n :
9 6(fIn 2+ 30
{c)
[
LT i i
() DhE fn 2 u'rln:l«
&
d,/1 — sin 2x
o6, .,.__&EE.— foms o 8, 7/ ° -:.1-1%
B2
(A} ecosx+6i0%
{(b) ={cpsx + RN x)
el +icosx + sinx)
(d) FodgEE H ® F T
YPL-S-BLU

THE?
TR
{a) [E]E‘
4
by 1
1
[ E
s
J1a
i 3
o (3]

(34-A)

1 _1f b tanx
(el E+Etm 1[ -
(d)y Iudem # & s ol
T ¢ HETFAT-SEE |

e CFiET B fix + v = Rofy 3
fx) = 1+ xgixibix) B, @ ].imng{ﬂua.-'cm"[
¥ —5

B bixi=b® | 79 Fix) s smE R 2

x -+

ia} 1+ abfix)
(b} 1+ah

e} ab

(d} abfix)

ja) v-x4+dinix+vl=c
b} wv+x+2inlz+yl=e
e} y-x+nix+yl=c

fdy y+x+2Mnix+yi=¢

TEl o wHes R |
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1
94, What is the minimum value of [x(x — 1)+ 1]2,|97.
where 0<x=<17
1
f3Ya
. is
bl 1
1
fe), =
3 g
A
(d [EJ*’
4,
o Ixi : dy
B5. Ify= |sinx| .Lhenwhntmllmvaluanfd—
X
At X = - E T
g4,
_r:i 4
@ 2562 Jar)
6
(b1 26 (6 {n 2+ /3n)
&
_x
9 B8 ln2++3n)
el
E
x
5 L
@ 2562 JEr)
]
a5,
d./1 - 5in 2
96. What Lq$equmm.whm
K1
— SR — 7
4
(al cosx+zinx
(b} = {cosx+ gin x}
(e)  %(cosx+ sinx)
id} Noneof the above
YPL-S-BLU (35— A)

dx

What is equal ta ?
_[ a® sin” x + b gos® x

1 _1(':1 x
(a) St —_“J
a :+ﬂb T b
(b {:——t.ﬂn_l[hmnx]
ab a
ie) :+itan"{hmnIJ
ahb \ &
(d) None of the above

where ¢ i2 the constant of integration.

Let flxit g = 1lxfly} and fix} = 1 + xgixipix),
whepe Jim gix)=a and lim §xi=b. Then
b il x—#l

what is I'(x) equal to 7

fa) 1+ abfix)
(b} 1+ab

(e} ab

(d) abflx)

What is the aolution of the differential

.oodx x+v+1
M — = = 7
Ewﬂmdy E+y =1

@) yv=x+dlnix+yl=c
b) wv+x2+Zimix+v)i=c
&) y-—=x+lnlx+yl=c

d) y+x+2Inix+yl=c

where ¢ is an arbitrary constant.
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.. ;
2anx+einx—1

100. i —5 : feros a2 7
I._E Zain"x—-3smx4+1
1
(@ —=
2 3
. 1
b il
(b) 5
(eg) —2
idy -3
101, 7R % 98 T 9 f s A e
5 WM B, W OUMES 10 W owew W= R
iR 2
1
O
) g
4
h Bl
® =
3
- T A
¥ 11
2
i il
W
102, 30 Y8V F UE @YEA H TR wREe
O (8 B | T tiEE weEEm gR A e
m ferarm & wivemm &
{m) B
bl 2%
(e Gl
(d)  B6%
YPL-S-BLU { 36 -

103.

104.

105,

Ad

wrefedi afn oAl & vw ffim =g A wE
= 25 9 # | AR FEAE % e 6 sl
= 26 @Y oW i & TR A 21 A R, W@
e # ameiEl st it & sfremm w2

{a) 20,80
(k) 40,60
fc) 60, 40
id) 80,20

A win o W cos o F FTOEH WET sin p#
sin o 3 cogle 1 O AT sin 0B, W
frferfiaa & R Sm/D v B/F -

" 5
1. 2 sinla r;—r|sinﬂ=sin2:::
L o

2. 2 sin E=mﬂ[u—§]

e feu v e = A a9
e 1

(b e 2

(e) 13 2 ZE1

(dy aFM1LIH 2

()

am #Hifaw A, B o C u% aigfees wEm 4
Eity dF Tl wataa 3 faew geand
# 132 P = 1.5 PiA) 3T PC) = 0-5 P(B) B,
a1 PrA) aoEr B

{a) :—
(b} %
(c) %
(d) %

@ Teachingninja.in




100,

101.

102.

YPL-S-BLU

-]

What iz Jim EE"“; x+w|”‘_1 equal
:__,E 2ain”" x—damx+1
to 7
1
() ==
2
1
by -=
3
ey =2
d} -3
If twao dice are thrown and at least one of the

dice shows 5, then the probability that the
sum i 10 or more i9

1
{a) E
4
bl =
) 11
3
el ﬁ
2
d e
(d) 11
The correlation coefficient computed from a

get of 30 observations is 0-8. Then the

percentage of variation not explained by linear

reEression 15
tal  HOE
{b) 20%

{ed 64%

d) 36%

(a7

103.

104,

105,

-5 )

The average age of a combined group of men
and women is 25 years. If the average age of
the group of men is 26 years and that of the
then the
percentage of men and women in the group is
reapectively

group of women 15 21  years,

{a) 20,80
() 40, B0
(¢) 60,40
(d) 80,20

IT sin [ is the harmome mean of sin o and
cos a, and gin 0 is the arithmetic mean of sin o
and cos o, then which of the following isfare
carrect ?

1. ﬁﬁn[uig-]ﬁiuﬂﬁstnﬂu
2, #rﬁ HinH=ms[::—§J

golect the correct answer using the code given
below

{a) 1anly

by 2 only

ic} Bothland?2
idl] Neither 1 nor 2

Let A, B and C be three mutually exclusive
and exhaustive events associated with a
random experiment. If P(B) = 1-6 PA) and
PC) = -6 PiB), then PiA) is equal to

{a) E
4
(b 'idfé'
el g
Lel) %
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106. % ez Faed d, 7 K v, Z SR & e

IR & HEA: 25%, 36% 3N 40% @l &
Tmin =l 8 | weie X, Y, Z o 2w, 4% o
5% Brql Aieel o e owEh € ) Ema A g
TEfeew ¥ ¥ UF 9w e am # o T
STV 9T AT # | Ry wiEa ® R 33 i
X g1 &4 T 9 7

&)

(b}

i)

idi

107. 8 fows v wy 3o @@ 8 | F0 8w 6 Rm
A= =R T AT 8
La) %
(b) E
fc) %
(d %
YPL-S-BLU

108. 5=l % @7 mym #, 90 3 ==feal sk

(38-A)

1@:2&%3&:2@;1@%
s@es § | s wgp 0 @ efew v @ s
o= W OGN AW R | W T A wl
1 et oY 2 Tl & B9 o T wriheea @ ¢

13

{a)
M 38

(h)

)

(el

audE § & S8 FuT Ad # 0
(a) 1,23R3

{h) FEw 132

{e) e 13W3

(d) ge 2 AW 3
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106,

In a bolt factory, machines X, Y, Z
manufacture bolta that are respectively 25%,
35% and 40% of the factory's total output, The
machines X, Y, Z respectively produce 2%, 4%
and 5% defective bolts. A bolt is drawn at
random from the product and 15 found to be
defective, What is the probability that it was
manufactured by machine X 7

fa) —

14
b e
: 39

20
)y =
' 39

d4
d) —
a9

107. B8 coins are tossed simultaneously, The
probability of getting ot least 6 heads is
i
i B i
il
57
(k) =
G4
(el %
256
228
(d} ==
266
YPL-S-BLU

{39-A)

10B. Threie groups of children contain 3 girls and

1 boy; 2 girls and 2 bovs; 1 girl and 3 boya.
One child is selected at random from each
group. The probability that the three selected
consist of 1 girl and 2 boys ia

{al %
(b) 3—92
ic) %
(d) %

Congider the following statements :

1 If 10 iz added to each entry on a list,
then the average increases by 10,

2, If 10 is added to each entry on a list,
then the standard deviation increases by
10

3 If gach entry on a list is doubled, then
the average doublos.

Which of the above statements are correct 7
{a) 1,2and3

b 1and 2 only

@ Tk By

id} 2and 3 only
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110. 25 YEoil = wam 42 | Tf e Gaw § 29z | 118, 9@ X v s gmwmn s - 6 R, 3l X sl

fam = 2, 1 ofomdt Gewi @ W - wmmww_%g.ﬁwmm
BV

HHTER A F

fa) 2 1
il -

(hy 4 24
i
i h) ——

icl e
idy 4 1
Q) ==

3 6

@y =
lll.ﬂﬁﬁﬂﬁxﬂ?%?ﬁxﬁ}ﬂ,yi}ﬂgﬂ g

(i=1,2 3 .. n R 76 5 O 906G

paftt gF, A 2 = wviven arey B A
Y 114, T2oT U8 () (kg ¥l v (X, ¥y) BT T

(a) % ag= 6 wen & owft am fim #§ st of
S F ST we U e v w § ) e
: P i
() n(logP—log Q) ta) haer 03T |

(hy a0 3l -1
fed 0,13 _1

{dl nilog P+log Q)

112, 7R @ st A /B H um w gy | (0 -1
wifr p R o =l (A & B H) B g
fofl we & @ i Wi g B, A1 Feafetae 108, wEew (0, 1, 2, ., 100 8 # 3 gl « sy

H 8§ FH-m /A A R /E whea wfi 92 w9 F | |x—y| > 5% BM
1. PFA)+P(B)=2-2p—gq hi Wl #

2. PANBisl-p-qg w &

s o e 2 1 S e 3 S i

{a) HaE 1 (b) %

(b) e 2 w20

{(e) 13 25 i

@ T LAE 2 e %

YPL-S-BLU (40-A)
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110. The variance of 25 observations is 4. If 2 i8|118. If the regression coefficient of ¥ on X is — 6,
added fo each observation, then the new

varinnce of the resulling observations is

and the correlation coefficient between X and
Y is - %. then the regression coefficient of X

(al 2
ihi 4 on Y would be
1
{a) ——
fey B 24
(d} 8 1
b} -—-—
24
1
, By ==
111, Ifx =0, ¥y, = 0(i =1, 2,3, ... n) are the values &
of two variables X and Y with geometric () %

meang P oand Q respectively, then the

geometric mean of E 5 _
Y 114. The set of bivariste observations (x;, ¥,),

tab X5y ¥aly vonn WRpa ¥y, ) are such that all the values

B
Q are distinet and all the observations fall on a
(b} antilog {% atm:utht- line with non-zero slope. Then the
pusstble values of the correlation coefficient
(e} nilog P-log Q) between x and v are
(al Dand ]l only

ib} Dand-1only

fed 0,1and-1

112, If the probability of simultaneous occurrence idl —1and 1only
of two ¢vents A and B is pand tha probability
that exactly one of A, B oeeurs is g, then which | 44«
of the following is'are correct

idd nllogP +log Q)

. Two integers x and y are chosen with
replacement from the set (0, 1, 2, ..., 10}, The

1. PA'+PIB)=2-2p-q probability that |x -y | > 51is
2. PIANBi=l-p-q (a) i]
Select the correct answer using the code given
below : b a5

12
{al 1only

30
ihi  2only i

I “ I

iel  Both 1 and 2

2n
{d) Neither 1 nor 2 @ 93

YPL-5-BLU [ 47 =A)

@ Teachingninja.in




116, ©F B T 4 e @ wuEt A oW B ¥ 118, uF o 4, FeifefEs 4 @ oo e

ﬂﬁﬁﬁﬁq_ﬂqmﬁﬂsﬁﬂﬁﬁﬁw.! e 2

Fterfias gfoms 2 & -
a) WIEG
AT A | FOAT B
ﬂﬁﬁﬂﬂﬁﬂ'{ 500 BO0 {hi q‘lﬁﬂfﬂﬁﬂq}
sftgm i 59 T 1860 | ¥ 1750 {e) TUITAT WYL
A1 & ded T T 81 100 W) wE ()

FufyEi A o B % o afiysl & v gw fau

e el & o
L . S o mﬁmlm.ﬁﬁﬂiﬂm&ﬁﬁcmmﬂmmaﬁ

i #), afz x urey @ W Tamem w1 FEfm =
(a) ¥ 1860, 100 B sy Taem w0 Befrm s #, A
{b) ¥ 1750, 100 orefaliag ® & Hm T 5 R 7

{e) ¥ 1800, B1 &l yzx

(d) FE § F w5 T bl y=<x

117. @9 T8 fo e W 1;2,3, 4,6 30 6% @y ey
i E, w1, 1 s e B s u
ﬁmmilmﬁﬁﬁﬁiyaﬂ{EMrm.ﬁ o A e R & e
-1, TR TR W s s W el ST Ry e ) e w0
wd B | 9 wer % guifes ofomsl & g

e a2 (o) it s il 6 A
x>y>zhl 7

{a) 14 (b) =L = A s gige
(b) 16 (o) T wOfEE & @ 3 39 a6 osE
fomer 7% Wm0 9E
(e} 18
) 20 (d) i # AT ain wEe 6 YeEn ()
YPL-S-BLU (42-A)
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116. An analysiz of monthly wages paid to the | 118,
workers in two firma A and B belonging to the
same industry gives the following result :

FirmA | Firm B
Number of workers GO0 GO0
i"’emﬂf monthly Z 1860 | ¥ 1750
Variance of I
distribution of wages o | i
The average of monthly wage and variance of
distribution of wages of all the workers in the
firma A and B taken together are s
fay & 18560, 100
thy ¥ 1750, 100
el = 1800, 81
(d}  MNone of the above

117. Three dice having digits 1, 2, 3,4, 5 and 6 on
their faces are marked I, I and 11T and rolled.

Let x, v and & represent the number on die-I,
die-Il and die-I1l respectively. What is the | 120.
number of posgible oulecomes such that
X>yp>x?
(a) 14
(b 16
fe} 1B
dy 20

YPL-3-BLU (43-A)

Which one of the following can be obtained

from an ogive 7
(al  Mean
(hi  Median

i} Geomeiric mean

id] Mode

In any dizcretesariss iwhen all values are not
same), if € vepretents mean deviation about
mean gnd ¥ represents standard deviation,
thef whieh one of the following is correct 7

N, yEx
(b)Y ¥v=x
ey Ky
dl =x<y

In which one of the following cases would vou

expect to get o negative correlation ?

{al  The ages of husbands and wives

(bl Bhoe sizge and intellipence

(e} Insurance companies’ profits and the
number of elaims they have to pay

(d] - Amount of rainfall and yield of crop
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el HH & oo sg
SPACE FOR ROUGH WORK
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO S0

T.B.C. : YPL-S-BLU Test Booklet Series

TEST BOOKLET
MATHEMATICS

M
Time Allowed : Twe Hours and Thirty Minutes Maximum Marks : 300

o

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TOEN OR MISSING PAGES OR ITEMS,
ETC. IF 80, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any amission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omissionfdiserepancy will render the Answer
Sheat linhle for rejection.

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet:

This Test Booklet containe 120 items (questions) Baeh item is printed both in Hindi and English.
Fach item compriges four responses (answers), You will select the responze which you want to mark
on the Answer Sheet. In case you feel 4hat there is more than one correct response, ma rk the
regponse which you consider the best, Inany¢ase, choose ONLY ONE response for each item.

You have to mark all your responses INLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before vou proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in sofne particulare in the Answer Sheet as per instructions sent to you with your
Admassion Certificate,

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you shonld hand over to the Invigilator only the Answer Sheef. You are permitted to
take away with vou the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end,

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS,

(i)  There are four alternatives for the answer to every question, Por each question for which a wrong answer

has been given by the candidate, one-third of the marks assigned to thot question will be deducted a8
penalty.

(i)  If a candidate gives more than one answer, it will be treated as n wrong answer even if one of the given
anawers happens to be correct and there will be same penaliy as above to that question.

(i} If a question is left blank, ie., no answer is given by the candidate, thers will be no penalty for that
fuesELn.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO 80
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